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ti Cat, clasificaetdn Tahular Mensunl

Sindicalizable $ 8,974.79

$indicaliaalrle $ 7;,778-,8$

Sindicalirabla $ 6,283.43

$indicalizable $ 10,L77.79

$indicalizatrle $ 43,810,08

$indic.alizable $ 4A,727.78

Sindicalizable $ 38,095.98

1 01 Sindicalizatrie $ 14,408.35

1 a2 $ixdicali2Bble $ 14,408.35

1 06 Conf ianza $ 11,828.7&

1 07 Contianza $ 11,,828.71

2 a2 $iindicalieable $ 15,351..25

2 UJ $in<iicalizable $ 15,351.25

2 05 Sinclictlizable $ 1"5,351,25

2 a7 $indicalizable $ 15,35:.,25

t OB $indicalizable $ 15,351.25

2 09 Sinclicalixable $ 15,351,25

3 02 Sindicalizable $ 17,390,03

J 04 Sindicalizable $ 17,390.03

3 05 $indicalizable $ 17,390.03

3 06 Sindicaliriib16 $ 17,390.03

a 07 $irrdicalizable $ 17,390,03
.z 08 $indicalizable $ 17,390,03
2 1{) Sindicalirable $ 17,390.03

3 11 $indicalizable $ 17,390.03

J 12 Sindiculizable $ 17,390,03

J sindicalizahle $ 17,390.03

3 14 Sindicalizable $ 1"7 3sa.o3

3 l5 Sindicalizahle $ 17,390,03

3 18 $inriicalizable $ 17,390.03

J
,JO $indicalizable $ 17,390.03

4 01 $indicalizable $ 18,385,44

4 n, $indicalizable $ 18,385.44

4 03 Sindicalizahle $ 18,385.4&

4 04 Sindicalizable $ 18,395,44



4 05 $indicalizable $ tB,3Bs,44
4 06 $indicalixabie $ rB,3Bs.44
4 07 Sindicalizable $ - 

rg,sss.aa
4 08 $indicalirable $_ $,3*t.aa
4 no Sindiealiaable

4 10 $indicalizable $ 18,38s.4,
4 11 Sinrlicalizable $ 1g,3str{4
4 ,I3

$indicalizable $ _ --" rg,lgs.ra
4 1r', $indicalizalrle $ 1B,3Bs^44
4 '15 Sinciicalizable $ irg,:ss.aa
4 16 $indicalizable $ 1.9,1as,44
4 17 $irrdicalizable $ Jb,sas,+,
4 18 SiIclicalizabl6 $ - 

1g-.3ss,44
5 A' Sindie alixable $ zo,gi4Ji
5 03 Sindicalizabie ( rr\, /i,944.75
5 04 Sindicalizable $ za,gqq,li
5 05 Sindicalieabte $ ea,g4q;i
s 07 Sindicalizable $ 2fi,944,ji
5 08 $indicalizable $_ za,g44.ii
5 no $indicalizable L 2a,gq4.7s
5 10 $indicalizable $ zo,s44.ti
5 11 Sindicaiizable $ zop4tls
5 tt Sindicalizabl* $ zo,gl4.ti
5 IJ Sindicalizable $ za,gq4.vs

14 Sindicalizable $ zai,iai.ts
5 15 Sindicalizable $ za,g44,ii
5 1S Confianza S 17,236.iT
s tt Confianza $ 1.7 ,236.27
5 18 $indicalizable t;a, a0,944,75
5 19 $indicaiizable $ 20,944.?s
5 20 $inciicalizable ( tre t0,944.75
5 2t Sindicalizahle $ zo,g4q.7s
5 Sindica{izabla $ zo,544Js
6 01 Sindicaliaable | -^"} 22,483.5L
6 na $indicalizable $ zz,4ga,st
6 $indicaiieaL:le $ z2,4B3,sL
6 06 $indicalizable $ :2,489.5i.
6 07 Sindicaliaable $ zz,q&t.st
6 OB $indicalizable $ zz,4*3.st.
b 10 9indioalieable $ 22,493.s1
6 11 $indicalizable $ z2,4ga.s1
6 $indicalizable $ zz,4B3,gL
6 14 $indicalizable $ :2.483,5i.
6 '15 Confianza $ r8,so2.6o
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6 $indicalizabte $ zz,q&l,sr
6 /,4 $indicali;lable $ -- 22,rsts1
7 01 $indicalizable :,s7a.467 02 $indicalizable $ zl,gzgd6
7 03 $indicalizable $ 23,878^46
7 04 $indioatizahle A %) 23.878 46
7 05 $indlcaiizalrle

$ - ts,sis,..a6
7 urj $indicalizabl6 $ _ ----Tt,ara,qa
7 08 $irrdicalizable $ x,gz8.a6
7 0s $indicalizahte $ "- 

-**-*1.t,sts.aa
7 ,,0

$inclicalizabte $ er,aru..467 11 $ ---- 
-*Tz,arc,aa

14 Confianza rg,oso,is
Sinc,isalizeb16 $ x,sra.ia7 $indicalizahle $ x,s)s.+6

7 Confianza ----Tg,oso.ss
7 24. Confianza 4 %

i_ 19,650.55
B $ 2s,sssJgo

Sindicalizable $ , *,ssa,.fr
B $ 2s;sssJsI 06 Sindicalizab,e i zr,ssg.is
o 07 Sindiealizabte x,isgJg
U 0s f z:,0:t.jo'I 11 Sindicalizabte --*-T,ssg.zg
8 12 Sindicaliilable $ _ - ,s^EssJeI 0t Sindicalizable ( -------=? II,SAZ.ZBI $indicalizab!e $ -* ^T,s4i.,n
I 04 $indicalizable zl,'az.lg
s 05 liindicalizabie ) 27,542.780

06 tiindicaliu able il,s4z.lB'I 07 $indicalizabte $ n,sqzJsI OB Con{ianza A -----------

22,566.07I 11 Confianza $ ---**-'Tr,666.02
'10

01 Sindicalizahle -$ ,s^506J8
10 03 $indicalizable S ,_ 

-- 
?9,506ts

IO 04 $inclicalizable $ zs,soo.ls
10 05 Sindicalizable $ - zg^5o6Jx
t0 0s $indicalizabie $ l9^so6.1s
10 a7 Sindicalizable $ is,soo.rr,,0

08 Sindicalizable $ zs,so6.is
10 10 $indicalizable $ ' - 

zg,so6.is
IO 11 Confianzo $ Z:4,ZBi,Ba
10 4n Confianza $ _ 24,281.84
10 14 C0nfianza L.? Z4,Z9J"B4

7

7 't8

Sindicalizable

Sindicalizabte

Confianza

T



31,745,89

31.,745.89

3r,745,89

33,939,89

33,939,88

33,939.88

33,939"88

33,939.88

33,939,88

27,934.49

27,930.49

3A,044,3,6

36,508.34

36,508.34

36,508.34
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$ 29,506,18
10 18 Sindicalieable

'10 19 $indicalizahle $ 29,506.18

11 01 Confianza $ 26,724,96

11 02 Sindicalizable

11 n? $indicalirable

11 OB $indicalizable

01 Sindic6lirable

1) 03 Sindicaliuable

12 05 Sindicalizatrlo

12 06 $indicalizable

tt 08 $indicalieahle

no $indicalizable

12 10 Corrfianza

12 11 Conlianza

IJ 01 Sindicalieable $ 36,508.34

0t Sindicalizable $ 36,508.34

13 03 Sindicalizable $ 36,508.34
1a 04 Sindicali:able $ 36,508.34

13 Confianza S 3a,a44,L6

IJ 06 Sindicalizable $ 36,508,34

13 07 Sindicalizable $ 36,508.34

13 08 $indicalizable $ 36,508.34

13 0$ Conf ianza

13 11 0onlianza 30,044.16

13 IL Confianza $ 3a,044.1"6

IJ {,
IJ Confianza $ :a,a44.16

t-) 16 Sindicalizable $ 36,508.34

1a 21 Sindicalizable

ta ta. $indicalizable $ 36,508.34
1,> 24 $indicalizable $ 36,508.34

13 26 $indicalizable

IJ 43 Sindicalizable
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